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Subject : English
Reference Books :
1.  English for Today — By Board
2. Active English Book-1 —D. H. Howe
3. Active English Work Book-1 - D. H. Howe
1 CT Syllabus
Serial Books Name Topic/Unit/Pg No
1 English for today Unit: 1-7
2 Grammar : (Sheet willbe | a. Using a & an

provided from school)

b. Identify Noun
c. Identify Pronoun

Half Yearly Svllabus

Serial

Books Name

Topic/Unit/Pg No

1

English for today

Unit: 1-17

Rhyme:

a) Good bye, Good bye
b) Rain, Rain go away
c¢) Look left.

Grammar

a. Using a & an

b. Identify Noun

c. Identify Pronoun

d. Gender

e. Number

f. Using is/ are/ was/ were

Dictation,
Reading

Spelling,

Active English

2" CT Syllabus
Serial Books Name Topic/Unit/Pg No
1 English for today Unit: 18-25
2 Grammar: a. Identify Verb
(Work  Sheet will be | b. Opposite word:
provided from school) c. Using have/has
Yearly Syllabus
Serial Books Name Topic/Unit/Pg No
1 English for today Unit: 18-30
Rhyme:
a) Counting Cats
b) One, Two
¢) Ring, ring...phone
2 Grammar:(Work Sheet will | a. Identify Verb
be provided from school) b. Opposite word:
c. Using have/has
d. Using Do/Does
e. Homophone
3 Dictation, Spelling, Reading | Active English
15t & 2" CT Marks Distribution
Serial Content Marks
1 Word Meaning 1x3=3
2 Make Sentence 1x3=3
3 Fill in the blanks I1x3=3
4 Questions Answer 3x2=6
5 Grammar Ix5=5
Total =20
Half Yearly & Yearly Marks Distribution
Serial Content Marks
1 Word Meaning 2x5=10
2 Make Sentence 2x5=10
3 Fill in the blanks 2x5=10
4 Questions Answer 3x5=15
5 Rhyme (EFT) I1x10=10




6 Jumble word (E.F.T) 2x5=10
7 Grammar: 20
8 Spelling and Dictation 5+5=10
9 Reading (Active English) 5
Total =100
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